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QUESTION 1

The importance of a category depends on both its difference to the target category mean and the number of
represented cases. High importance can result from any of the following:

Note: There are 3 correct answers to this question.

A. A high discrepancy between the category and the mean of the target category of the target variable
B. A minor discrepancy combined with a large number of records in the category

C. A combination of both

D. recise scheduling of main industrialization tasks

Correct Answer: ABC

QUESTION 2

Once your business issue has been identified and formulated, you need to have data on hand that will permit an answer
to be found. In order for your data to be usable by the application, the following five conditions must be met:

Note: There are 5 correct answers to this question.

A. You must have a sufficiently large volume of data to be able to build a valid model, that is, in order for the model to be
both relevant and robust. An analytical model that is generated from a dataset of 50 lines may have low generalization
capacity, and contain low informative value. We can advise you on the issues of data volume.

B. Your dataset must contain a target variable, that will allow you to express your business issue within the application.

C. The target variable must be known for each observation of the training dataset. To express this another way, no
target variable values may be missing over the range of the entire training dataset.

D. The data source format must be supported by the application.

E. Your data must be presented in the form of a single table of data , except in instances where you are using Event
Logging or Sequence Coding features of Data Manager.

F. Server instances are going to be started with a different system account than the authenticated server.

Correct Answer. ABCDE

QUESTION 3

Two indicators specific to Automated Analytics allow you to evaluate the performance of a model. Note: There are 2
correct answers to this question.

A. The predictive power, which is the quality indicator of the model, Automated Analytics User Guides and Scenarios
Modeling Concepts PUB L | C 27

B. The prediction confidence, which is the robustness indicator.
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C. Through Java Web Start: in this mode, a Web server needs to be installed and configured on the machine hosting
the SAP Predictive Analytics server. It will deliver, through web pages, the necessary content in order for the client
computer to run the app

Correct Answer: AC

QUESTION 4

The option Analyze Deviations is a tool that provides you with a diagnostic of the data statistical variation. This option
can be used for several purposes:

Note: There are 3 correct answers to this question.

A. to compare the distribution of a new dataset with the distribution of the dataset used to train the model,

B. to check the quality of new data after loading them,

C. to check if your data have evolved over time and thus if the model need to be adapted to the new data.

D. The Root entries are used for tracing the activity of the server which can later be used for debugging purposes.

Correct Answer. ABC

QUESTION 5

To generate a time series model, you must select a partition strategy to cut your training dataset into the three sub-sets:
training, validation and testing. Since the order of the observations in the dataset is important for the modeling, only two
types of partition strategies are available in time series:

Note: There are 2 correct answers to this question.

A. Sequential with Testing

B. Sequential without Testing

C. In the IIS Administrative Tools pane, click Internet Information Services (IIS) Manager.

Correct Answer: AB
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